Wednesday, November 13, 2024 . A

EE 381 Electric and Magnetic Fields Quiz #9 (Fall 2024)
Name ,Zf !/ A’

Instructions: Open book & notes. Use units/notation as given in class. Put answers in mdlcated spaces and show all
work for credit.

In a volume of oil-contaminated sea water (e=32¢g0, 6 =4 S/m), the potential is = 360x% - 90x + 80 V. Find
the electric field, electric flux density, current density, and polarization vectors as well as the free volume

charge density when x = 0.4 m.
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Wednesday, November 13, 2024 B

EE 381 Electric and Magnetic Fields Quiz #9 (Fall 2024)
Name /Zé/}/ 6

Instructions: Open book & notes. Use units/notation as given in class. Put answers in indicated spaces and show all
work for credit.

In a volume of oil-contaminated sea water (e=26¢0, 6 =2 S/m), the potential is V' = 350y” - 70y + 60 V. Find
the electric field, electric flux density, current density, and polarization vectors as well as the free volume

charge density when y = 0.3 m. _ )l/ gl ﬂ’
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